TAG

MODEL # RCK-HDR52
TAG Residential 3 Tier Tray Rack

www.tagfitness.net
630-375-1500



EXPLODED DRAWING & PARTS LIST

No. | Description Qty No. Description Qty
1 Left Stand Frame 1 5 End Cap F50*3 2
2 | Right Stand Frame 1 6 Flat Washer 24
3 | Dumbbell Deck 6 7 Cap Screw M10*20 12
4 | F50 Diagonal Tube Cover 4 8 Nut M10 12




ASSEMBLY

Assembly (3) Dumbbell Deck, (1) Left Stand Frame and (2) Right Stand Frame by (7)
Cap Screw M10*20, (6) Flat Washer M10 and (8) Nut M10.




